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‘ Simplifying Expressions #1
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The commutative property states that two numbers can be added
or multiplied in any order without changing the value.

Like terms must have the same variables.
To add like terms, reorder using the commutative property and add their coefficients.

1
Like Terms > 4x,—1.5x,=x

3

Example: X+2y+3x+35y
x+3x+2y+5y

4x+7y

Not Like Terms >  4x,2xy,—y

(Reorder using the Commutative Property)
(Add Coefficients)

Simplify by combining the like terms. Show all steps and circle your final answer.
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6th Grade FaSt Math Name: f\-\ﬁi 1

Simplifying Expressions Warm-Up #1 - Date: Per:
Use the commutative and distributive properties to rewrite each expression.
Show all steps and circle your final answer in standard form.
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Use the commutative and distributive properties to rewrite each expression.
Show all steps and circle your final answer in standard form.

I.  10-7m+(=15)+10m 2. —x=25-(=5x)+(-7) = (~11)+(-8x)
. & oM
10+ H15) 00 - X+(-13) +5x +(-) +U +8x)
| 3m+{-5) |
| ) EThED
1
3. 26m+2)-4@2m~12) 4, (-6 +18)
~( ":“J-—?I 1) :ﬂ-‘ 2 )+ O
C)I'H" R “r'"'"i‘f_]*k{? 3("(9X\+ 36[7>

5, —6(13~ 2k) + 4(k—2) 6. 24:;6"
o(3)+0X k) +40) £9(-2)
-7%+(1K+‘ﬂ§* P i g

| lok+Em0 | -3+ 2%

7. g(10y—5)—6 8. (BcA14)(-1.5)
’ 15 (-14)
?_5'((05\%1’((“\’) +F0 -Ls (8e) +
PR Sze+ 2t \
By + 2 +-6) - =



